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Economics

(Industrial Economics - 1)
(New Course)
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Time : 23 Hours] [Total Marks : 70
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ENGLISH VERSION

1 Give meaning of firm and explain various types and 14
objectives in detail.
OR
1  What is industrial economics ? Explain scope of industrial 14

economics in detail.

2  What is market ? Explain market structure, profitability 14
and innovations in detail.
OR
2 Give meaning of firm and explain economies of scale of 14

firm in detail.

3  Explain merger, acquisitions and collaboration in reference 14
to firm in detail.
OR
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3  Explain cost-plus price policy, skimming price and

panatration price policy in india.

14

4  Explain production, productivity, efficiency and capacity 14

in context to firm in detail.
OR

4  Explain growth of firm and growth of size of firm
detail.

5 Give answers of any two :
(1) Active and passive behaviour of firm.
(2) Explain entry conditions.
(3) Explain investment expenditure.

(4) Explain profitability of firm.
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